S5 0 5 f“o i"'ﬁ (i f)v;r': . 5&; Hm;l;
*f*"’:fj'l,fﬁ"’;ﬁfﬁ 0.07 0.07 + 1 o§/4
(*ﬁ){ﬁﬁéﬁ;) 0.09 0.09 + 1 ?%/4
ﬁﬁﬂﬁggﬁ 0.09 0.08 + 1 0§/4
e W 0.09 0.09 Ot 10/4
(BRI X EFR) (HAODLE) el
(b*?mg?go;km 0.17 0.17 = 4 1(5%/4
ﬁg?ﬁ'{%%) 0.12 0.13 + 12%/4
ﬁggﬁgﬁ?ﬁ 0.09 0.09 + 1 %4
Bt 0.11 0.12 5 10/4
?ém@i@% 0.12 0.12 a5 —k 1 %4
ﬁﬁﬂﬁggfﬁ 0.11 0.12 FRAI7 Ik 1 2%/4
ﬁ"ﬁ’?;ﬁ% 0.07 0.07 + 1 %4
(ﬁgggg) 0.17 0.18 N—FRa—k 1%4
(%ﬁfﬁfﬁﬂﬂﬁ;_) 0.12 0.12 TARI7ILE 1 %3
(ﬁ@ﬁ@ﬁ%ﬁ%ya—) 0.1 0.11 FRI7 Ik 1 CH%/ 4
ﬁﬁg} ITTEIJHTI |2|'K§g§; 0.15 0.18 B 1 (;T;/ 3




